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Dim A(5)
A(1)=0
ForI=2to5

IfIMod2=1 Then
AD=Ad-1)+4
Else
AD=Ad-1)+3
End If
Next I
Print A(5)
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a. ceil(rand*99)+1  b. floor(rand*101)  c. floor(rand*100)  d. ceil(rand*100) e. ceil(rand*101)-1
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1. —{8 VHDL B350 T » s HSiE TR EREEER) -

library ieee; use ieee.std logic 1164.all;

entity aaa is
port (clk n, CE,
pre n,clr n, D :instd logic;
Q,Qn :out std_logic );
end entity aaa;
architecture behavior of aaa is
signal Q_tmp : std_logic;
begin
bb: process (clk_n, pre_n, clr_n ) is
begin
assert not (pre_ n="'0"and clr n="0")
report "Illegal inputs: pre n and clr_n both '0"";
if pre n="0'"then
Q_tmp <='1};
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elsif clr n="0"then
Q_tmp <=0}
elsif falling_edge(clk n) then
if CE ='1" then
Q_tmp <=D;
end if;
end if;
end process bb;
Q<=Q_tmp; Q n<=notQ tmp;
end architecture behavior;
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